SECONDARY SCHOOL EXAMINATION - 2020 (ANNUAL)
Mathematics (MODEL SET)

QI

H el B FE=A = 95

Total number of questions = 95
gien3fal @ fery fAQer — quiies — 100
Full Marks- 100

Instructions for the candidates :-

1. Remefl aUrEva *e TRl H SR |
Candidates are required to give their answer in their own words as

far as practicable.
2. T IR BIRR W Y gy &id gurie Mfdse &< 2 |

Figures in the right hand margin indicate full marks.

3. 39 UT-UF Pl AFYAD g & fory 15 fiee o1 aifaRea ww fean ar 2|
15 minutes of extra time has been allotted for the candidates to read
the question paper carefully.

4., I8 U U QI WGUS| H T GUe—3f Ud WYUs—q |
This question paper is divided into two sections: Section-A and
Section-B.

5. WUS—3 ¥ 60 IS UTH T | YD & fo1g 1 3fc iR 8, R+ & feht
50 Al BT IR <1 AR 2 | T | Al Gl & IR o1 IR U2 50
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IR BT HedId1 [HIT JARAT | YT IR SUAT BRI T OMR - IR

U H S T e g DI Blel /el dicd U H 94X | fhd Al bR B

FTECR /TR Ya1 / &€ / ARIA NS BT IR GRABT § TANT HRAT 777
g TR UReH I BT |

In section-A there are 60 objective type questions (each carrying 1
mark) out of which any 50 questions are to be answered. First 50
answers will be evaluated in case more than 50 questions are
answered. Darken the circle with blue/black ball pen against the
correct option on OMR sheet provided to you. Do not use whitener/
Liquid/Blade/Nail etc. on OMR sheet, otherwise the result will be
invalid.

Gus—g ¥ 27 oY SR U © | IS & ford 2 3fp FeiRa &, R+ 4
fh=2l 15 WAl BT IR <1 AMAR 7 | 59 AfARFT g9 W@US H 08 <™
IR ved AU MY & (U & o 5 3 MR 2), [ 4 fhgl 4 gedl
HT IR ST 2 |

In section-B, there are 27 short answer type questions (each carrying
2 marks), out of which 15 (fifteen) questions are to be answered.
Apart from this, there are 08 long answer type questions (each

carrying 5 marks), out of which any 4 questions are to be answered.
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7. & UBR & Seldcid SUBRT BT YANT Yofaar afsid 2 |

Use of any electronic appliances is strictly prohibited.

SECTION-A (Objective Type Questions)

QGue—3 (¥~ )
9 GIT 1 F 60 dP & AP Y9 & A1 IR fdbey T M7 8, 99 9 s

e 2| fHel 50 UeHl & SR | U9 §RT g Y W&l fAwed w1 OMR sfie
DI BN | (50 X 1=50)
Questions No. 1 to 60 have four options, out of which only one is correct.

Answer any 50 questions. You have to darken your selected option on

the OMR -sheet. (50 X 1=50)
210 BT TIHAT TR & —
A. 3aTd B. @rd
C. el D. 59 9 &I T8l
The decimal expansion of 21 is -
A. Non-terminating B. terminating
C. Repeating D. None of these
2. TMEUH —
A. TR¥T H=T B.amuR¥y &w=n
C. Urdpd =& D. quiish
T is alan -
A. Rational Number B.Irrational Number
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C. Natural Number D. Integer

&1 H&AT31 BT 0[O 15 AT FO0 105 & | fa ITH A Yeb AT 5 & I G
AT & —

HCF of two numbers is 15 and their LCM is 105. If one of the
numbers is 5 then other number is

A.75 B. 15 C.315 D. 525
fF=feRaa 9 @ Ry =T & ?

Which of following is an irrational number?

A. \]1-2- B. \/? c. Vi3 D.\ 2o
fFreforRaa § @ fgerd |aHieRor 2 2

Which of the following is a quadratic equation?

A+ B\X-14=0 B.2x¢=2x- x
C.x3+4x+4=0 D.x+)l(=

1, P A WY —

The simplest form of % is

(A) 5 B) 5 (©) {1 (D) 5%

fhfl fgara 9gue & Iadi @ AftIHad =T B8Rl § —

The maximum number of zeroes of any quadratic polynomial is.
(A) 4 (B) 3 (C)2 (D) 1

el quep p @ forg Rww G &7 WY & —

For some integer P, an odd number is of the form -

(A) 2p+1 (B) 2p C) » (D) p+l
fpfl O &= a1el g7 & 9189 fdg P & 997 wR <1 wef x@r¢ PR den PS &i=h g
g, afe PR=8 &0 @ PS=
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(A) 8 IHI0 (B) 4 &#10 (C) 64 10 (D) 6 |HI0
PR and PS are two tangents drawn from an external point P to a
circle with centre O. If PR = 8 cm, then PS =
(A) 8 cm (B) 4 cm (C) 64 cm (D) 6 cm
10. I o, B AR y Bramad 98U ax® + bx2 + cx +d & IS &I, A
oaff + B y+yo =
If o, B and y are the zeroes of the cubic polynomial ax® + bx? + cx +
d then af + B y+ ya =
(A) (B) —4 () ¢ (D)<

a a a

[ox

11, <1 R FHIHRON & 3Mei FHR Q@R &, qd IRID FHIDRT & GTH BT
(A)TH & & (B) T &1 ®©
(C) 3Ffiid &1 (D) B1$ &t 7TEl &
The graphs of two linear equations are parallel lines, then the pair of
linear equations has -
(A) One solution (B) Two solutions
(C) Infinitely many solutions (D) No solution

12. 98U 2X° - 5X2 - 14x + 8 & YD &I AN BT —

The sum of the zeroes of the polynomial 2x3 - 5x? - 14x + 8 will be

A 73 ® 5 © ¢ o 3
13, @R 9x2 - 1= 0 B el & TRy T ¥ ?

(A) IRAfA® 3R THH (B) ar<ifde 21

(C) Ir<Ifd® IR T (D) 7 | PIg ol
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14.

15.

16.

17.

What is the nature of roots of the equation 9x? - 1=0 ?

(A) Real and Unequal (B) Not Real

(C) Real and equal (D) None of these

Ife ABC =1 PQR w90 3rfoT 8 foRT /A =420 /R =80° 1 /B =
If ABC and PQR are similar triangles in whichz A =42° and £ R = 80°
then£B =

(A) 42° (B) 80° (C) 58° (D) 48°

|UE X2-5% Y[ID & —

The zeroes of the polynomial x? - 5 are -

(A) +5, -5 (B) +\5,- 5 (C)+/5,-\/5  (D)-1/5, /5
TSR B 3x + ky = 0 AT 2x + 5y = 20 & 3Mfgg g1 89 & forw
K &7 a4 8 —

The value of K for which the system of equations 3x + ky = 0,

2x + 5y = 20 has unique solution -

15
A K= 5

NSREN]

(B)K #

©)K=3 (D)K =

fa=forlRad o o9 Taiar 51 8 ?

N [

Which of the following is an arithmetic progression ?
(A) 0.3, 0.33, 0.333, .

(B) 1,11, 111, .

(C)2,4,8, 16, .

(D)O0,-4,-8,-12,.
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18.

19.

20.

21.

22.

g (-12,-12) g are § & ?

(A) T2¥ UTg (B) fg<ira ure

(C) it g (D) =rqef ure

In which quadrant does the point (- 12, - 12) lie?

(A) First quadrant (B) Second quadrant
(C) Third quadrant (D) Fourth quadrant
fepef iR 2100 & forg f=feriaa o o9 = | © ?
(A)S,= B2a+(n-1)xd) (B) S, = ani)
(C) (A) T2 (B) < (D) T & PIg el
For any A.P. which of the following formula is true?

() s,= B2+ @-1)xd) (B)snzﬂnzi)
(C) Both (A) and (B) (D) None of these

fgamd FHIHRY bx?+ ax + ¢ = 0 &7 fAfdeR srm —
The discriminant of quadratic equation bx?+ ax + ¢ = 0 will be -
(A) b*-4ac (B) a?-4bc
(C) ¢2-4ab (D) b*-2ac

Bt &1 eF%a (@ sors H) s oy (-4,0),(0,3) d2m (0,0) &
The area of the triangle in square units whose vertices are (-4, 0 ),

(0,3)and (0,0) is -

(A) 6 (B) 1

(C) 36 (D) 12
a1 FHarg et 8 8 —

(A) FarTH (B) Ty
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23.

24.

25.

26.

27.

28.

(C) (A) @ (B) =T (D) 7 & BIE el

All equilateral triangles are -

(A) Congruent (B) Similar

(C) Both (A) and (B) (D) None of these

i 9gus f(X) =x2-3x+5 & YRIG aiR b 8, A4 (a+b)=

If a and b are the zeroes of the polynomial f (x) = x? - 3x + 5 then

4(a+b)=

(A) - 12 (B) 12 (C) 20 (D) - 20
FHAR 2ol 5, 8, 11, 14, ... & UUH 24 UGI HI IRT T —

The sum of first 24 terms of the A.P. 5, 8, 11, 14, ......... is -
(A) 940 (B) 960 (C) 948 (D) 944

fa=g (5, 5) B QA Hof favg 3 & —

The distance of the point (5, 5) from the origin will be -

(A) 5 (B) 10 (C) 5\2 (D) 245

afd AABC § AB=13 90, BC = 12 9HI0 AT AC = 5 94 @I

ZC0=7

In AABC ifAB=13cm,BC=12cmand AC =5cm. then/C =7
(A) 90° (B) 30° (C) 60° (D) 45°

fag (6, 10 ) @ &Ifc § —

The ordinate of the point ( 6, 10 ) is -

(A) 6 (B) 10 (C)-4 (D) 16

&1 AR ST BT | Yo 4 : 9 & ITUTd H 8, §7db &Fhel Bl gUTd
T —

https://www.evidyarthi.in/



29.

30.

31.

32.

33.

The ratio of the corresponding sides of two similar triangles is 4 : 9
then the ratio of their areas is -

(A)4:9 (B) 16 : 81 (C)9:4 (D) 81 : 16
fg A(5,2)3IRB(9,5) & 9 &I g & —

The distance between the points A (5,2 )and B (9, 5) is -

(A) 4 (B) 9 (C)7 (D) 5

AABC # DE ||BC qor % = 3 | gl AC = 15 IHo a1 AE &r

3
4

Af~The 9 BT
(A)6.43dH0  (B) 5 T¥0 (C)4.433%0 (D) 7.23 w0
In AABC, DE ||BCand 4D - % . If AC = 15 cm. then the

approximate value of AE will be.

(A) 6.43 cm (B) 5cm (C) 4.43 cm (D) 7.23 cm
FHIR 2ol 4,9, 14,19, .............. BT P UG 109 T ?

(A) 20 dt (B) 21 dt (C) 23 df (D) 22 df
Which term of the A.P. 4,9, 14,19, .............. is 109 ?

(A) 20™ (B) 21t (C) 23t (D) 22t

?Iilc{tan(a:% gl dI sin@ &7 99 ©

If tano = 12 then the value of sin0 is
5 13

12 5 13
() 12 ® 3 © 3 O

fdg A(-7,5)3RB (4, 2)® MM arell I@ragve & qea—fdg @
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34.

35.

36.

fame & —
The Co-ordinates of the mid-point of the line segment joining the

pointA(-7,5)and B (4, 2)are

A (3, 1) B) (3,7 )
2 2 2 2
(C)(*lz—l,g ) (D)(3,7)

e A B HA18 60° 7, TG 30 HICR BT R BRI DI G4 dlell I&U
AMR @ 3418 § —

(A) %’ o (B) 1s\3@0 (C) 30y3#0 (D) 15 o

If the height of the sun is 60° then the height of the vertical tower
making the 30 m long shadow is -

(A) \3/—;) m B) 153m (C) 30\3m (D) I5m

a1 G ST Hargl 6 WMo 3R 11 Ho €, FHaA Y R @ 7 | afs @wi
& Tel & G A g 12 Ho & A 37 S R B d @ g R -
(A) 17 Ho (B) 18 0 (C) 13 #o (D) 12 #0
Two poles of height 6 m and 11 m stand on a plane ground. It the
distance between the feet of the poles is 12 m, then the distance
between their tops is -

(A) 17 m (B) 18 m (C)13 m (D) 12 m

&1 < D SFBAl BT AU 9 : 1 8 T IAD! (AT BT U & —
The ratio of the areas of two circles is 9 : 1, then the ratio of their
radii is -

(A)3: 1 (B)9 : 1 (C)1:3 (D)1:9
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4,2,5,2,0,3,2, 3% 9GAD © —

The mode of 4, 2, 5, 2,0, 3, 2, 3 is -

(A) 3 (B) 2 (C) 5 (D) 4

e U T B TR, dAlels AT HdTg HHL: 15 FHI0, 12 IFHI0 qAT
45 W0 T I SHBGT I T —

(A) 805 ¥fio® (B) 810 ¥fio®

(C) 243 ¥#i0° (D) 604 H¥HI0°

If the length, breadth and height of a cuboid are 15 cm, 12 cm and
4.5 cm respectively then its volume is -

(A) 805 cm? (B) 810 cm?

(C) 243 cm? (D) 604 cm?

B 0 ATl BFIES P &% d 8N —

The area of a sector of angle ¢ will be -

0 2 6
M)Bﬁ)(nr (B) 355 X270
C) == x27rr (D) — X 27

720 180

(1-sinA)(1-sinA)=

(A) sin?A (B) Cos?A

(C) - Cos?A (D) - sin?A

I — SfARTA 110—130 BT a—forgd & —

The Class mark of the class interval 110 - 130 is -

(A) 110 (B) 130 (C) 240 (D) 120
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42.

43.

44.

45.

46.

47 .

tan 57° T 719 BT —

cot 33°
tan 57°
The value of 73300  will be -
1
(A) 1 (B)O (C)-1 (D) 7

TH U1 Bl IR UHh AH AT 37 &Y UIIdhal § —
In a throw of a die, the probability of getting an even number is -
GV B) 1 c) 3 (D) 2
3 2 6 3
&1 TS amefa W £ AOB =115°dr ZAPB =

In the given figure £ AOB =115° then ZAPB =

A
0 P
B
B
(A) 1150 (B) 65° (C) 35° (D) 57.5°
5sec’A-5tan’A="?
(A) 5 (B) 0 (C) 1 (D) 6
v fAf¥aa geaT & ufiear sl & —

The probability of a sure event is -
(A)O (B) 2 (C) -1 (D) 1
ferferRaa o @9 cos 300 & SRR © ?
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48.

49.

50.

51.

52.

Which of the following is equal to cos 30°?

(A) cos 45° (B) sin 6Q°

(C) tan 30° (D) cos 60°

F=fRaT 5 oI d=1g gy &1 /19 728l 7 ?

(A) Sgefd CEIEES

(C) 91 faerer= (D) #rem

Which of the following is not a measure of Central tendency?
(A) Mode (B) Median

(C) Standard deviation (D) Mean

sin?® X Cosec = 7

(A) sind (B) cosech (C) 0 (D) 1
a1 gRESd gaf @) SwarTe wue Yl @ e & -
(A) 3 (B) 2 (C) 1 (D) srfrea

The number of common tangent lines of two intersecting circles is -
(A) 3 (B) 2 (C)1 (D) Infinite
Af o =B =45°T sin (o + B ) BT A9 BT —

If o =B =45° then the value of sin (o + B ) will be -
A ®) 1 () 0 (D)
faU g el | x &1 749 BRI —

N |—

(A) 10 Ho#lo (B) 16 Ho#lo (C) 6 o0 (D) 20 o0

The value of x in the given figure will be -
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53.

54.

B &<—T10cm > R £ 6cm ——= C
(A) 10 cm (B) 16 cm
(C)6 cm (D) 20 cm

Ueh g @ SR BT ATH 10 HOHI0 R FHDBI SHaTs 12 HOHIO 7, Al 2 Bl

I & —
(A) 400TT HHI0® (B) 3007T &#HI0°
(C) 2007T HI0° (D) 1007T HI0°

The diameter of the base of a cone is 10 cm and its height is 12

cm, then the volume of the cone is -

(A) 400 T cm?® (B) 300 T cm?

(C) 200 T cm? (D) 100 T cm?

afe ot @1 fawot 164/2 o &, @ T B g B darg Bl -
(A) 16 cm (B) 4 cm

(C) 44/2 cm (D) 256 cm

If the diagonal of a square is 16\/2 cm then the length of the side

of the square will be -
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55.

56.

o7.

58.

59.

(A) 16 cm (B) 4 cm

(C) 44/2 cm (D) 256 cm

Ifg sin P =sin Q@1 P 3R Q =T 1T & @l —

(A) P =Q B)P>Q
(C)P<Q (D) $7H @15 Tl

If sin P =sin Q and P and Q are acute angles , then.
(A) P =Q B)P>Q
(C)P<Q (D) None of these

r 31 @1 h A8 arel 969 & IHYS Bl SABA (I FHIS H) BN —
The curved surface area (in sqg. unit) of cylinder of radius r and
height h is -

(A) Ttrh (B) 2 7trh

(C) 47rh (D) Ttr2h

14 JHI0 ST dTel T TGl BT Gl Jord &Fhel aRlT —
(A) 14770 FHI0? (B) 1987T HHI0?

(C) 4887 HHI0? (D) 3967 THI0?

The total surface area of a hemisphere of diameter 14 cm is -

(A) 147 Tt cm? (B) 198 T cm?
(C) 488 1T cm? (D) 396 T cm?
cos (90° - A) =

(A) cos A (B) sin A
(C)-cos A (D) -sin A

. OR _
fev v A PQR 4 PQ

R _
In the given A PQR, % =
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90°

QU =
(A) tan a (B) cot a
(C) sin a (D) sec a
60. 0.47=
43 47 43 47
() 8 B) & © 2 D) 5
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Gue—q
SECTION - B
(R g uwe)
(Non Objective Type Questions)
Y SR U
Short Answer Type Questions.
U G&T 1 ¥ 27 oY ST 2| 62l 15 YTl & SR < | IAD D
fog 2 s feiRa 21 (15x2=30 )
Question Nos. 1 to 27 are short answer type. Answer any 15
questions. Each question carries 2 marks. (15x2=30 )

1. R e R sfbar v aarge R R e it s L o qeer
TR ¥d AT 3rfd Mt |
Without actually performing the long division, state whether the
rational number % will have a terminating decimal expansion or
non-terminating repeating decimal expansion.

2. I IguE X2-X-(2k+2) H1 P B X = -4 T, AT K BT A S B |
If x = - 4 is a zero of the polynomial x2- x - (2k + 2), then find the
value of K.

3. 192 Pl MY UGS & UMK & wd H Fad DI |

Express 192 as a product of its prime factors.

4, fgard waxor 100x? - 20 x + 1 =0 & Ha & B |
Find the roots of the quadratic equation 100x2-20x+1=0.
5. AR 2ol & v IR ug faRay afs god ug a = 4 @R drd—itR
d=-3
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10.

11.

12.

13.

Write first four terms of the A.P when first term a = 4 and
common difference d = - 3.

Rig #IRTY 5 3V2 vo suRda s 2|

Prove that 312 is an irrational number.

frferRad

[N

& FHIDIUT JTH Bl A BN —

Y

Solve the following pair of linear equations -
XxX+y=8, X-Yy=0.
fdete fauTeT QTR &1 UART R 135 AT 225 B HOWO fwepTed |
Using Euclid's division algorithm, find the H.C.F of 135 and 225.
2x2 + 3x + 1 d1 X + 2 7 97 ARY |
Divide 2x? + 3x + 1 by x + 2.
IS T FHOR 107 BT UM Ug 5, AIGsiaR 4 AR 3ifad ug 205 21, ar
FHIAR S0 & YT Bl HE&AT A BHITY |

If the first term of an A.P is 5, the common difference is 4 and
last term is 205, find the number of terms of the A.P.

Ueh fgord 98U Sd HIfoTg e e 8 3R -16 2 |

Find a quadratic polynomial whose zeroes are 8 and -16.

X & A4 Fa i raae forg fag A (-3, 2) 921 B (x, 6) & 9/ &1 g3
25 3HTS © |

Find the values of x for which the distance between the points
A (-3, 2) and B (x, 6) is 25 units.

fpdT A ABCH a1 fa=g D dorm E wwer: qaisil AB T2 AC WR §9 ISR ©
f» BD = CE werr /B = £C, o Rrg IR f% DE||BC

In anyA ABC, two points D and E are on the sides AB and AC
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14.

15.

16.

17.

18.

19.

20.

respectively such that BD = CE and £B = ZC then prove that
DE || BC.

39 g & feens 9 $ifsg o fad=get A(2,3) 3k B(4,5) @l
fAEI 9Tl XERIUS BT 2 : 3 & AU H [IHTITIT el 2 |

Find the co-ordinates of the point which divides the line segment
joining the points A( 2,3 )and B (4, 5) in the ratio 2 : 3.

ud st ABD # ZA @107 @em ACL BD Wit C, BD R &, @1 Rig &
f AC? = BC . DC.

In AABD, ZA is right angle and AC_L BD where C lies on BD then
prove that AC2 = BC . DC.

afe 1500t6=8?ﬁﬁ~|@aﬁ1%5cose=1§7.

If 15 cot 0 = 8 then prove that cos 0 = 1‘17

IS U IAGIATBR Wl BT AT 14 FHI0 BI, I IHDI &AB AT DIy |
If the diameter of a semicircular field is 14 cm then find its area.
U fag QA Udh gd IR TRl XGT Bl oAwTs 24 FHI0 TAT Q B s
25 9HI0 &, A1 g a1 B | w |

From a point Q the length of tangent to a circle is 24 cm and
distance of Q from centre is 25 cm. Find the radius of the circle.
Rig X fd

Prove that

I +cosA _ 1*cosA
1 -cosA SinA

21 J¥I0 <A1 aTel g BT U =19 des UR 60° BT HIVT AT BRaT o, Al
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21.

22.

23.

24.

25.

26.

27.

AT I TS ST DN |
In a circle of radius 21 cm, an arc subtends an angle of 60° at the

centre then find the length of the arc.

sin’30° + tan’45° 1 71 SI1d BT |

sec?30° + cot?45° . a0 )1 0

Find the value of SI30° + tan*45"
sec?30° + cot?45°

FfeIRaa sifdhs &1 Igadd o o —

qTdich 0—20 | 20—40 [ 40—60 | 60—80 |80—100

BT P Ge&=T 5 6 16 | 12 11

Find the mode of the following data.

Marks obtained |0-20(20-40 | 40-60 |60-80 | 80-100

No. of students| 5 6 16 12 | 11

afg A, B @ik C, AABC & 3id: SIvT 31, al |rfdd difere b

cos (At By=gin €
2 2

If A, B, and C are interior angles of a A ABC then show that

cos (A;ZBF sin Qz :

BT YHR W Bl TS 52 Tt &l Uh T § I U YT hTall ST © | ol

[ BT IIGLATE YT B Dl IHAT ST D |

One card is drawn from a well-shuffled deck of 52 cards. Find
the probability of getting a king of red colour.

f=ferRad sifers &1 A 18.75 €, I K &7 A9 Sd & |

The mean of the following data is 18.75 then find the value of K.

X 10 |15 | k 25| 30

f 5 10 | 7 8 2

fgamia ague 12x% - 20V3x +25 & YIS Sid o |
Find the zeroes of the quadratic polynomial 12x* - 20V3x + 25.

A et |
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Find the Value.
3 sin230° + 4 co0s?45° + 3 tan?30° - 6 cos260°

CEEEGHHEI LS

Long answer type questions
U3 GIT 28 O 35 do <rd SO gy 2 | fH=2f 4 93l @ ST < |
gd® @ forg 5 3w faerifRa 2 | (4x5=20)

Q. No. 28 to 35 are long answer type questions. Answer any
four questions. Each question carries 5 marks. (4x5=20)
28. T® Hiex dle, f5aa! ReRr 9 # =1l 18 fhHiio /Her §, 24 fhio axT &

Ufid S ¥, 981 X GRT & ATl ST DI YT 1 ©eT e oIl 7 |
gRT DI Tl AT DITSY |

A motor boat whose speed is 18 km/h in still water, takes 1 hour

more to go 24 km upstream than to return downstream to the
same distance. Find the speed of the stream.

29. aed™ Ay ¥ 8T AN —
Solve graphically -
2x-2y-2=0, 2x+y-6=0

30. g X b b HHABIOT ST H BT BT a7 WAV I YoTAl & af & INT &
RER BT © |
Prove that in a right triangle, the square of the hypotenuse is
equal to the sum of the squares of the other sides.

31. TS FHAIYS &1 &% = difoe [ oy =0 @4 % (3, 0), (4, 5),
(-1, 4) 3R (-2, -1) g1
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32.

33.

34.

Find the area of a rhombus whose vertices are (3, 0) , (4, 5),
(-1, 4) and (-2, -1) taken in order.

Rrg X & —

Prove that -

(sin*A - cos*A + 1)cosec?A = 2

Td 3 ST 120 910 $d18 31 60 WHI0 ST aTell Tah ¥id; |iferd w,
ST 60 TR0 AT dTel Tah STGTITel UR STRITUT © | $9 S &l Ul I 9N §U
Tdh od Jairg 9o H 39 IHR Al Srat eI omar @ 6 a8 99 @) ol
DI TR BN | AT I DT AT 60 THI0 & TAT TS 180 0 © AT dol
# 99 g U BT AMITH ST BITT |

A solid consisting of a right circular cone of height 120 cm. and
radius 60 cm. standing on a hemisphere of radius 60 cm. is placed
upright in a right circular cylinder full of water such that it touches
the bottom of cylinder. Find the volume of water left in the
cylinder, if the radius of the cylinder is 60 cm. and its height is180
cm.

U HEATER SIS W T2 Udh 50 HIeR $dl IR U 8 afas dd i) Rera
2 AR @ Y 9 W™ & SR dAT e RR & 1@ BIvT B 30°

qAT 45° &, AT FST W™ B SHaTs smd x|

A vertical flag rod and a 50 metre high tower are situated at same
horizontal ground. The angles of depression of the top of the
tower from top and foot of the flag rod are 30° and 45° respectively.

Find the height of the flag rod.
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35. 7.6 9HI0 ofd1 U WIES TIfAY iR g9 5 : 8 UId H [AIioTd Iy |
Q1 |II BT AT |
Draw a line segment of length 7.6 cm and divide it in the ratio

5 : 8 . Measure both parts.
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